Paper 1 (No Calculators Allowed)

Answer ALL questions in the spaces provided.
a) Evaluate 
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b) Evaluate 
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Answer
a).............................. [1]

b).............................. [1]

2. Evaluate

a) 
[image: image3.wmf]3

4

3

-

÷

ø

ö

ç

è

æ

,

b) 
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Answer
a).............................. [1]

b).............................. [2]

c) Simplify  
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d) Given that 
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 , 
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 and 
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Answer
a).............................. [1]

b).............................. [2]

3. Make m the subject of the formula 
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Answer 
 .............................. [3]

4. Factorise completely

a) 
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b) 
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Answer 
a) .............................. [1]

b) .............................. [2]

5. Solve the equations

a) 
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b) 
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Answer 
a) .............................. [2]

b) .............................. [3]

6. The lines 
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 and 
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 are parallel.

a) Find the value of m.

b) Given further that the line 
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 passes through 
[image: image18.wmf])
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Answer 
a) .............................. [1]

b) .............................. [2]

7. The two cylinders below are geometrically similar. Their curved surface areas are 2 cm2 and 18 cm2 respectively. Given that the volume of the smaller cylinder is  15 cm3, find the volume of the larger cylinder.
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Answer 
.............................. [3]

8. Given that y is inversely proportional to the square of 
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 and that when 
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a) express y in terms of x,

b) find the values of x when 
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Answer 
a) .............................. [2]

b) .............................. [2]

9. Given that 
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 and 
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, find

a) the smallest value of 
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b) the greatest value of 
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Answer
a).............................. [1]

b).............................. [1]

10. The diagram shows the speed-time graph of a particle for a period of 8 seconds. Find
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a) the acceleration of the particle,

b) the total distance travelled in metres,

c) the average speed for the whole journey, giving your answer in km/h.

Answer
a).............................. [1]

b).............................. [1]

c).............................. [2]

11. The table below shows the marks scored by a group of boys in a class

	Marks
	1
	2
	3
	4
	5

	Number of boys
	2
	x
	13
	5
	1


a) If the mode is 3, write down the largest possible value of x.

b) If the median is 3, write down the largest possible value of x.

c) The mean mark of a group of 16 girls in the same class is 3. Given that 
[image: image27.wmf]3
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, calculate the mean mark for the class of 40 pupils. 

Answer
a).............................. [1]

b).............................. [1]

c).............................. [2]

12. In the diagram below, PQR is a straight line with 
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cm and 
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cm. Calculate

a) 
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,

b) 
[image: image31.wmf]SQP
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,

c) 
[image: image32.wmf]SQR
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cos

.

Answer
a).............................. [1]

b).............................. [1]

c).............................. [1]

13. The positions of three towns A, B and C are shown below. Find

a) the bearing of A from C,

b) the bearing of B from C,

c) the bearing of A from B.

Answer
a).............................. [1]

b).............................. [1]

c).............................. [1]

14. In the diagram, O is the centre of the circle. Given that 
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a) 
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b) 
[image: image35.wmf]DBC
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,

c) 
[image: image36.wmf]DOC
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.

Answer
a).............................. [1]

b).............................. [1]

c).............................. [1]

15. The table below shows the height of 30 plants, measured to the nearest cm.

	Height (x cm)
	Number of plants
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a) Complete, in the answer space, the histogram, which represents this distribution.








[2]


b) Estimate the mean height of the plants.

Answer
b).............................. [2]

Paper 2 (Calculators Allowed) 

Answer ALL questions.
a) Solve 
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, giving your answers correct to 2 decimal places.
[4]


The diagram shows a rectangle PQRS with a quadrant PXY, centre at P. It is given that 
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i) Find, in terms of x, the value AB2.




[2]

ii) Find, in terms of x, the area of 
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iii) Find, in terms of x, the area of rectangle PQRS.



[1]

iv) Given also that the area of rectangle PQRS 
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v) Hence find the value of x.






[2]

2. Answer the whole of this question on a sheet of graph paper.
The variables x and y are connected by the equation 
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a) Copy and complete the table below.
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b) Taking 2 cm to represent 1 unit on both axes, draw the graph of 
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[3]

c) From the graph, find the minimum value of y and its corresponding value of x.









[2]

d) From the graph, find the value of x when 
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e) By drawing a suitable straight line on the graph, find the solution of the equation 
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a) A triangle has vertices 
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i) Prove that 
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 is an isosceles triangle.



[3]

ii) Find the area of 
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b) In the diagram, PAT is a tangent to the circle at A, CDT, ADE and BCE are straight lines. Given that 
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ii) 
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iii) 
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c) In the diagram, ABC is a straight line. Given that 
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i) 
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ii) the length of AB,







[2]

iii) the area of 
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d) A, B and C are three points on level ground with 
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i) Calculate the shortest distance from B to AC.



[3]

ii) A man looks at P wile walking along AC. Calculate his greatest angle of elevation of P during this walk.





[2]

3. Answer the whole of this question on a sheet of graph paper.
The marks of some pupils in an examination with a maximum mark of 80 are grouped as follows:

	Marks (x)
	Number of Pupils
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The cumulative frequency table for the distribution is given below:

	Marks
	10
	20
	30
	40
	50
	60
	70
	80

	Number of pupils

 scoring this mark or less
	2
	10
	29
	b
	69
	78
	82
	84


a) Calculate the values of a and of b.





[2]

b) Using a horizontal scale of 2 cm to represent 10 marks and a vertical scale of 2 cm to represent 10 pupils, draw a smooth cumulative frequency curve for these results.
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c) Find the interquartile range.






[3]

d) A student who scored above 70% of the maximum mark obtained grade A. Find the percentage of pupils who obtained grade A.


[2]

e) Given that 
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4. In the diagram, BC is parallel to DE. Given that 
[image: image85.wmf]2

:

1

:

=

CE

AC

, 
[image: image86.wmf]1

:

2

:

=

FE

CF

 and the area of 
[image: image87.wmf]12

=

D

ABC

cm2.


a) Name the triangle that is similar to 
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b) Find the ratio of 
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c) Find the ratio of 
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d) Find the area of 
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e) Find the area of 
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f) Find the area of quadrilateral 
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